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LLAUUBLL DUUGN 619,700.6( 618,920.0| 597,180.0 5,360.0( 16,380.0( 780.6 780.6
wjn pynd
LUuBUSHhY DUUGN 619,700.6( 618,920.0| 597,180.0 5,360.0( 16,380.0( 780.6 780.6
wjn pyntd
ounusnt@3ntuutNrh 64 UNNULRLENH 619,700.6( 618,920.0| 597,180.0 5,360.0( 16,380.0( 780.6 780.6
QENLPENNIY
wjn pyntd
Ujneptp (UwpwGpbtn) 619,700.6( 618,920.0| 597,180.0 5,360.0( 16,380.0( 780.6 780.6
wjn pyntd
- Urnnowwwhwlwb L jwpnpwwnnp Ginupbp 619,700.6( 618,920.0( 597,180.0 5,360.0| 16,380.0| 780.6 780.6
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LLAUUGLL DUUGN 450,732.6 425,782.6 425,782.6( 24,950.0 24,950.0
wyn pynty
N2 hvUuuyuUL UuShduNrh aond oukuutnN 450,732.6 425,782.6 425,782.6( 24,950.0 24,950.0
wyn pyntd
<pUtuuuu uhansueN 450,732.6 425,782.6 425,782.6( 24,950.0 24,950.0
wyn pynty
utecuuutN G4 uureudnrnruuen 450,732.6 425,782.6 425,782.6( 24,950.0 24,950.0
wyn pyntd
- Uy obpblwbbn L uwppwynpnidbbn 450,732.6 425,782.6 425,782.6( 24,950.0 24,950.0
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LLAUUGLL DUUGN 1,587,603.1| 1,587,603.1 1,587,603.1
wyn pyntd
QLBUSHhY TUUGN 1,587,603.1( 1,587,603.1 1,587,603.1
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 1,587,603.1| 1,587,603.1 1,587,603.1
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wjn pynd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 1,587,603.1| 1,587,603.1 1,587,603.1
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- Canhwbnin pOnuyph wy, SwrwnipynLabbn 1,687,603.1| 1,587,603.1 1,587,603.1
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LLAUUGLL DUUGN 1,239,634.3| 124,530.9 124,530.9( 272,462.4 272,462.4 282,820.5 282,820.5
wyn pyntd
QUuBUShY DUuUGN 1,239,634.3| 124,530.9 124,530.9| 272,462.4 272,462.4 282,820.5 282,820.5
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 1,225,384.0| 124,530.9 124,530.9( 272,462.4 272,462.4 282,820.5 282,820.5
QENLPENNIYU
wjn pynd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 1,225,384.0( 124,530.9 124,530.9| 272,462.4 272,462.4 282,820.5 282,820.5
wyn pyntd
- COnhwbnep pGnuyph wy SwewjnigyinLbOtn 1,225,384.01 124,530.9 124,530.9| 272,462.4 272,462.4 282,820.5 282,820.5
anuuucunNLueP 14,250.3 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nph0tp wewnwywb hwnywdh wy 14,250.3 0.0 0.0 0.0 0.0 0.0 0.0
Gwywpnwyatnhb
wyn pyntd
- LOpwghy npwdw0nphbbp wEnwywb L hwdwybpwihb ng 14,250.3 0.0 0.0 0.0 0.0 0.0 0.0
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LLAUUGLL DUUGN 14,250.3 14,250.3| 517,750.2 517,750.2| 25,500.0 25,500.0 2,320.0 2,320.0
wyn pyntd
QUuBUShY DUuUGN 14,250.3 14,250.3| 517,750.2 517,750.2| 25,500.0 25,500.0 2,320.0 2,320.0
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 0.0 0.0| 517,750.2 517,750.2| 25,500.0 25,500.0 2,320.0 2,320.0
QENLPENNIYU
wjn pynd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 0.0 0.0 517,750.2 517,750.2 25,500.0 25,500.0 2,320.0 2,320.0
wyn pyntd
- Canhwbnin pOnuyph wy, SwrwnipynLabbn 0.0 0.0| 517,750.2 517,750.2| 25,500.0 25,500.0 2,320.0 2,320.0
anuuucunNLueP 14,250.3 14,250.3 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nph0tp wewnwywb hwnywdh wy 14,250.3 14,250.3 0.0 0.0 0.0 0.0 0.0 0.0
Gwywpnwyatnhb
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LLAUUBLL DUUGN 169,847.7| 152,506.5 152,506.5( 17,341.2 17,341.2
wjn pynd
LUuBUSHhY DUUGN 169,847.7| 152,506.5 152,506.5( 17,341.2 17,341.2
wjn pyntd
ounusnt@E3NtuusNh 64 UuMPULRLENh 169,847.7| 152,506.5 152,506.5( 17,341.2 17,341.2
QENLPENNIY
wjn pyntd
Muwydwbwagnuih0 wy Swewnupntb0bph dGrpptpnid 169,847.7| 152,506.5 152,506.5| 17,341.2 17,341.2
wjn pyntd
- COnhwbnep panuyph wy SwewjnigynLbGtn 169,847.7| 152,506.5 152,506.5| 17,341.2 17,341.2
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LLAUUGLL DUUGN 1,498,992.0| 486,294.1 486,294.1 564,537.1 564,537.1| 448,160.8 448,160.8
wyn pyntd
QUuBUShY DUuUGN 1,498,992.0( 486,294.1 486,294.1 564,537.1 564,537.1| 448,160.8 448,160.8
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 1,498,992.0| 486,294.1 486,294.1 564,537.1 564,537.1| 448,160.8 448,160.8
QENLPENNIYU
wjn pynd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 1,498,992.0| 486,294.1 486,294 1 564,537.1 564,537.1| 448,160.8 448,160.8
wyn pyntd
- COnhwbnep pGnuyph wy SwewjnigyinLbOtn 1,498,992.0( 486,294.1 486,294.1 564,537.1 564,537.1| 448,160.8 448,160.8
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LLNUUBLL DUUGP 1,279,739.5| 540,114.9 540,114.9| 739,624.6 739,624.6
wjn pynd
LUuBUSHhY DUUGN 1,279,739.5| 540,114.9 540,114.9| 739,624.6 739,624.6
wjn pyntd
ounusnt@3ntuuNrh B4 UNPULRLENN 1,279,739.5| 540,114.9 540,114.9| 739,624.6 739,624.6
QENLPENNIY
wjn pyntd
Nuydwbwagpuwih0 wy SwewjniginLbatph dbrpppnid 1,279,739.5| 540,114.9 540,114.9| 739,624.6 739,624.6
wjn pyntd
- COnhwbnep panuyph wy SwewjnigynLbGtn 1,279,739.5| 540,114.9 540,114.9| 739,624.6 739,624.6
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37 37 37 37
1 2 3 5 7 9
LLAUUGLL DUUGN 1,405,304.1| 249,733.0 249,733.0( 148,511.0 148,511.0| 39,012.6 39,012.6| 352,288.6 352,288.6
wyn pynty
QUuBUShY DUuUGN 1,405,304.1| 249,733.0 249,733.0( 148,511.0 148,511.0| 39,012.6 39,012.6| 352,288.6 352,288.6
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 1,405,304.1| 249,733.0 249,733.0( 148,511.0 148,511.0| 39,012.6 39,012.6| 352,288.6 352,288.6
QENLPENNIYU
wjn pynd
Nuwjdwbwanwhb wy Swrewjnigintbbbph derpptpned 1,405,304.1| 249,733.0 249,733.0( 148,511.0 148,511.0| 39,012.6 39,012.6| 352,288.6 352,288.6
wyn pyntd
- COnhwbnep pGnuyph wy SwewjnigyinLbOtn 1,405,304.1| 249,733.0 249,733.0( 148,511.0 148,511.0| 39,012.6 39,012.6| 352,288.6 352,288.6
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LLAUUGLL DUUGN 224,246.0 224,246.0( 264,064.7 264,064.7| 127,008.2 127,008.2| 440.0 440.0
wyn pyntd
QUuBUShY DUuUGN 224,246.0 224,246.0( 264,064.7 264,064.7( 127,008.2 127,008.2| 440.0 440.0
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 224,246.0 224,246.0( 264,064.7 264,064.7| 127,008.2 127,008.2| 440.0 440.0
QENLPENNIYU
wjn pynd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 224,246.0 224,246.0| 264,064.7 264,064.7| 127,008.2 127,008.2| 440.0 440.0
wyn pyntd
- COGnhwbnep panuyph wy SwewjniynLbOtn 224,246.0 224,246.0( 264,064.7 264,064.7( 127,008.2 127,008.2| 440.0 440.0
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Unjntuwy N 07-03-03

wyn pyntd puwn dpwigntinh
Qhatynnghwywb
Ywlywpwpduyul hhywannLnLGGERh EpbluwabphG pdo4wlw
pd24wywl oglUnipjwb
pd2ywywb oglnipywb oqUnLpjwlb SwrwnipiNLbOGn
SwrwjnLpnLGbtn
SwrwjntpnLGbtn
ClnwakOp wjn pYnLd puwn wyn pYntd puwn wjn pYnLd puwn
nwuh — Jwuwwpnnbtph — Jwuwwpnnbbph — Jwuwwpnnbtph
<nnwéh wodwhnidp gndwpp c c c
(huwiquin 3 32 3 EE 3 32
npwdtepnd) | 5 25 5 55 5 =5
cl c z ol c z ol c z
= v3E B v3E B v3E
g Vv 3z “g Vv 32 “g Vv 3z
3 3 3
S 2 3 S 2 3 S 3
d g% a g% a g%
3° 37 3°
1 3 5 7
LLAUUGLL DUUGN 1,974,959.0| 1,220,408.4 1,220,408.4| 80,358.4 80,358.4| 674,192.2 674,192.2
wyn pyntd
LUuBUSHhY DUUGN 1,974,959.0| 1,220,408.4 1,220,408.4| 80,358.4 80,358.4| 674,192.2 674,192.2
wyn pyntd
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 1,974,959.0| 1,220,408.4 1,220,408.4| 80,358.4 80,358.4| 674,192.2 674,192.2
QBNLRENNIYU
wyn pyntd
Muwjdwlwagnuihb wy Swewnipyntbbbph dGrpptpnud 1,974,959.0( 1,220,408.4 1,220,408.4| 80,358.4 80,358.4| 674,192.2 674,192.2
wjn pyntd
- CUnhwbnin pOnuyph wy, SwrwnLpnLGObn 1,974,959.0| 1,220,408.4 1,220,408.4| 80,358.4 80,358.4| 674,192.2 674,192.2
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opblph 7-pn. hnnywény pntobinwhl swiuubph gnpéwriwywl nwuwywngiwb 07 pwdth 04
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjniuwy N 07-04-01

Unyntuwly 07-04-01

wyn pyntd puwn dpwigntinh

JuaquwytpwnipntGbephb

<hghtlhy L Zhahbahy <wuwunnty yunwbgwynp Uhuw/nhu<-h
hwywhwdwdwnpwywih a Jwpwybbph Ywluwnagbiwo L
hwywhwdwdwpwywih
thnpdwghuinwywb J Ywbfuwnpgbowh pnidoglntpjwb
SwrwjnLpnLbbGn
SwrwjnipnLbbtn R SwrwjnLpINLbbEn SwrwjnLpnLGatn
LOnwakh
rr.:lbuuuh L wjn pYntd puwn wjn pYntd puwn wyn pYntd pun wjn pYntd puwn
Znnywéh woywanidp gnLawnp z Jwuwnwpnnlbph z Jwuwwpnnlbph z Jwuwnwpnnlbph z Jwuwnwpnnbbph
(hwquin g s g s g s g S
nnwaatnny) 3 32 3 32 3 32 3 32
S = S s S S S s
3 v3E 2 v3E 2 v3E 3 v3E
El v 32 El v 32 El v 3z El v 32
= 33 = 33 = 33 = 33
a c= a = a £= a =
£3 £3 £3 £3
3 3 3 3
1 2 4 5 6 7 8 9
LLAUUBLL DUUGN 727,678.6| 381,138.4 381,138.4 44,097.6 44,097.6( 51,092.7 51,092.7| 25,752.3 25,752.3
wyn pyntd
LUuBUSHhY DUUGN 727,678.6| 381,138.4 381,138.4 44,097.6 44,097.6( 51,092.7 51,092.7| 25,752.3 25,752.3
wyn pyntd
ounusnt@3ntuutNrh 64 UNNULRLENH 707,678.6| 381,138.4 381,138.4 44,097.6 44,097.6( 51,092.7 51,092.7| 25,752.3 25,752.3
QENLPENNIY
wyn pyntd
Nuyiwbwanwihb wy Swrewjnigintbbbph derpptpned 707,678.6| 381,138.4 381,138.4 44,097.6 44,097.6( 51,092.7 51,092.7| 25,752.3 25,752.3
wjn pyntd
- Canhwbnip pGnuyph wy, SwewnLpnLGObn 707,678.6| 381,138.4 381,138.4 44,097.6 44,097.6( 51,092.7 51,092.7| 25,752.3 25,752.3
u3L ouwugP 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Lyhpwunynigntbbbp ng urwd wpswywb (hwuwnwywywh) 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
wjn pynLd
- Lyhpwuwunynipntbbbp wy, whnip shbunwwbnnn 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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wyn pYnLd puwn spwantinh
Ywnwyhs
hhqu;gﬂ:%g;%%nh Unwo hwywpwagndwb Olutiint ntd wwypwnh hinLGwywatuwngbiwh
WiutnwhwGiWG SwrwjntpnLGbtn wGwnwywb 6pwaghp wagauwihb dpwghn
SwrwjnLpNLGbEn
wyn pYntd pun wjn pYntd pun wyjn pUnLd pun wjn pYntd pun
Znnywéh woywanidp z Jwuwnwpnnltph z Jwuwnwpnnbbph z Jwuwnwpnnlbph z Jwuwnwpnnlbph

& = 53 = & & 3

2 22 2 22 2 £3 2 22

3 =s | 2 22 | 2 E 2 £ g

3 w5t 3 v5E 3 53 3 v5E

=1 g3 =1 V=3 =] 25 =1 g 33

= 3 3 = 2 3 = 55 = 23

3° 3° =

10 11 12 13 14 15 16 17
LLAUUBLL DUUGN 13,340.0 13,340.0| 42,257.6 42,257.6| 20,000.0 20,000.0| 150,000.0 150,000.0
wjn pynd
LUuBUSHhY DUUGN 13,340.0 13,340.0| 42,257.6 42,257.6| 20,000.0 20,000.0| 150,000.0 150,000.0
wjn pyntd
ounusnt@3ntuutNrh 64 UNNULRLENH 13,340.0 13,340.0| 42,257.6 42,257.6 0.0 0.0/ 150,000.0 150,000.0
QENLPENNIY
wjn pyntd
Nuyiwbwanwihb wy Swrewjnigintbbbph derpptpned 13,340.0 13,340.0| 42,257.6 42,257.6 0.0 0.0/ 150,000.0 150,000.0
wjn pyntd
- COnhwbnep panuyph wy SwewjnigynLbGtn 13,340.0 13,340.0| 42,257.6 42,257.6 0.0 0.0 150,000.0 150,000.0
u3L ouwugP 0.0 0.0 0.0 0.0 20,000.0 20,000.0 0.0 0.0
wyn pyntd
Lyhpwunynigntbbbp ng urwd wpswywb (hwuwnwywywh) 0.0 0.0 0.0 0.0] 20,000.0 20,000.0 0.0 0.0
JuaquwytpwnipntGbephb
wjn pynLd
- Lyhpwuwunynipntbbbp wy, whnip shbunwwbnnn 0.0 0.0 0.0 0.0] 20,000.0 20,000.0 0.0 0.0
JuaquwytpwnipntGbephb
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Unyntuwy 07-06-01

wjyn pYntd puwn Spwantinh

Lwlpwwbwnnipintbhg nnipu
pnidiwl nintgpywé

Nddwpwiwwngkih

Abnwpwnwpwywbnigntbhg pfunn

wjn pyntd

hhquwlnbbph wfuwnnpnahs thnpdwghunwywb L
Awlwwwnhwéwfuuh hGunwagnunipnLblbp tGpnnwpwlwywb SwewjnientbObn
thnfuhwunnigned
LOnwukOp
Znqwsh woywonL r?LLELL:Jh wjn pYntd pun wjn pYntd puwn wyn pYntd pun
n L ((lhwquTr? z Jwuwwpnnbbph z Jwuwwpnnbbph z Ywuwwnpnnbtph
wuilkpn & & 53
H 32 ] EE ] EE
5 se 5 ZE g £ g
B v3E = w3E = w3E
=] v 3 3 v 3 3 v 3
2 35 2 35 2 33
S N S XN S N
a g % a g % a g ‘;-
e 3 3 e 3
3 3 3
1 2 3 4 5 6 7
pLAUUGLL DUuUGN 1,731,498.6 6,862.1 6,862.1 100,725.3 100,725.3 4,914 4 4,914.4
wyn pyntd
LULBUSHhY DUUGN 483,467.4 6,862.1 6,862.1( 100,725.3 100,725.3 49144 49144
wyn pyntd
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 247,557.7 0.0 0.0| 100,725.3 100,725.3 49144 49144
QBNLRENNIYU
wyn pyntd
Muwjdwlwagnuihb wy Swewnipyntbbbph dGrpptpnud 247,557.7 0.0 0.0] 100,725.3 100,725.3 4,914.4 4,914.4
wyn pyntd
- LUnhwntp pOnyph wy dwrwjnipINLOGEN 247,557.7 0.0 0.0] 100,725.3 100,725.3 49144 49144
anuuucunNrLuen 9,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Ywwhww) npwdwbnphbtp whunwywb hwunydwéh wy 9,000.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pyntd
- Ywwhuwnwy untpyGOghwbbn hwdwyplsphh 9,000.0 0.0 0.0 0.0 0.0 0.0 0.0
unshuLu4uu uMuuUsSuLLEN B4 busuuurNocuuwLGN 6,862.1 6,862.1 6,862.1 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 6,862.1 6,862.1 6,862.1 0.0 0.0 0.0 0.0
Owwuwnbbn (pneetihg)
wjn pyntd
- Uy bwywuwnbbn pniobihg 6,862.1 6,862.1 6,862.1 0.0 0.0 0.0 0.0
usL ouwugP 220,047.6 0.0 0.0 0.0 0.0 0.0 0.0




19¢€

Unyntuwy 07-06-01

1 7

Uy 6wfuubp 220,047.6 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvUuuyuUL U4ShduNrh aond oukuutnN 1,248,031.2 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

<pUtuuuu uhansueN 1,248,031.2 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd

CELLGN GU CchuNtEB3NFLLEN 1,184,409.8 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

- Ctlptnh L 2nGnLpntGGEph 2hGwnpwpnieynLl 111,053.5 0.0 0.0 0.0 0.0 0.0 0.0
- Chlptnh L 2hGnipintbbbph Ywwhuwnwy Epwbnpngnid 1,073,356.3 0.0 0.0 0.0 0.0 0.0 0.0
utecuuutN 64 uureudnhnruuen 49,661.8 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd

- Ywpswlwl uwppwynpniiltn 2,095.5 0.0 0.0 0.0 0.0 0.0 0.0
- W vbptOwltn L uwnppwynpnidbtn 47,566.3 0.0 0.0 0.0 0.0 0.0 0.0
usL <hutuyuu un2nsutnN 13,959.6 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- Lwuwgdwhbunwgnunwywb wfuukn 13,959.6 0.0 0.0 0.0 0.0 0.0 0.0
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wyn pYnLd puwn dpwantiph

Lwiwjbpbbph pintetbbphl

<wiwuwphwhb pwbyh

<wiwfuwphwihb pwbyh

GuwnwlwhG wowlgnLpjwip wowygnipuip hpwywlwgynn
Urnn9wwwhwywb h u Li[JJb . hpwywbwgynn Urnn9wwwhwywb hwiwywpgh
opynGENh hhdGwanpngnud winlwgnialitinh Unnnewwwhwlywo whnhwywiwgdwh Spwgnnid
unipybtlghwbph
wSLANNLG hwdwywngh Awwnbwywl npwdwpbnphwhb
nLuddnn wpnhwlywGwgdwd dpwghp énwghn
wjn pYntd puwn wyn pYntd puwn wjn pYntd puwn wjn pYntd pun
<nnywish waywbntip = Yuwwnwpnnbbph = YuwnwnpnnGbph - Ywwnwpnnltph - Ywwnwnpnnltnh
g § § =) § =
3 % = S 3 £ s S 3 33 3 3=
e} c o] i ] cl c al c
5 | 25| 25| B2 | 35| 5| 3 JSE S JSE
=} S 3 €5 =} 5 £5 =} 33 =1 v 33
3 35| 33 3 33| v 3 Ry 3 55
= Q3 5 o = z o v T = 3 o 3
S 335 c S J < c S gp_ S g_a
a £3 N 3 a 73 3 a g5 a =
8 9 10 11 12 13 14 15 16 17
pLAUUGLL DUuUGN 57,392.9| 31,230.7| 26,162.2| 9,000.0| 1,000.0| 8,000.0( 393,635.8 393,635.8 15,184.5 15,184.5
wyn pyntd
LULBUSHhY DUUGN 0.0 0.0 0.0| 9,000.0( 1,000.0f 8,000.0f 25,175.9 25,175.9 15,184.5 15,184.5
wyn pyntd
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
QBNLRENNIYU
wyn pyntd
Muwjdwlwagnuihb wy Swewnipyntbbbph dGrpptpnud 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- LUnhwntp pOnyph wy dwrwjnipINLOGEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anuuucunNrLuen 0.0 0.0 0.0| 9,000.0( 1,000.0( 8,000.0 0.0 0.0 0.0 0.0
wjn pyntd
Ywwhww) npwdwbnphbtp whunwywb hwunydwéh wy 0.0 0.0 0.0 9,000.0| 1,000.0| 8,000.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pyntd
- Ywuwhuwnwy unipdlghwbbn hwdwGpbbnpha 0.0 0.0 0.0| 9,000.0( 1,000.0( 8,000.0 0.0 0.0 0.0 0.0
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pneetihg)
wjn pyntd
- Uy bwywuwnbbn pniobihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u3L dumnutnN 0.0 0.0 0.0 0.0 0.0 0.0 25,175.9 25,175.9 15,184.5 15,184.5
wjn pyntd
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8 9 10 11 12 13 14 15 16 17

Uy 6wfuubp 0.0 0.0 0.0 0.0 0.0 0.0] 25,175.9 25175.9 15,184.5 15,184.5
N2 hvUuuyuUL U4ShduNrh aond oukuutnN 57,392.9| 31,230.7| 26,162.2 0.0 0.0 0.0| 368,459.9 368,459.9 0.0 0.0
wjn pyntd

<pUtuuuu uhansueN 57,392.9| 31,230.7| 26,162.2 0.0 0.0 0.0| 368,459.9 368,459.9 0.0 0.0
wjn pynLd

CELLGN GU CchuNtEB3NFLLEN 57,392.9| 31,230.7| 26,162.2 0.0 0.0 0.0| 346,707.2 346,707.2 0.0 0.0
wjn pynd

- Ctlptnh L 2nGnLpntGGEph 2hGwnpwpnieynLl 0.0 0.0 0.0 0.0 0.0 0.0 3,774.3 3,774.3 0.0 0.0
- GGlpknh L 2hGnLpnLbGEph Yuwwhwnwy yepwbnpngnid 57,392.9| 31,230.7| 26,162.2 0.0 0.0 0.0 342,932.9 342,932.9 0.0 0.0
utecuuutN 64 uureudnhnruuen 0.0 0.0 0.0 0.0 0.0 0.0 21,752.7 21,752.7 0.0 0.0
wyn pyntd

- Ywpswlwl uwppwynpniiltn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Uy opblwltn L uwppwynpnidbbp 0.0 0.0 0.0 0.0 0.0 0.0] 21,752.7 21,752.7 0.0 0.0
usL <hutuyuu un2nsutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- Lwuwgdwhbunwgnunwywb wfuukn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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wjn pYntd puwn dpwgntinh

<wiwfuwphwihb pwbyh

<wiwpuwphwihb pwbyh

Lwiwfuwnhwihb pwGyh <Lwidwpfuwnhwihb pwbyh wowlgnt puidp wowlygnipjwip
wowygntpjudp wowygntpjudp hnwYwowgynn hpwywbwgynn
hpwywbwgynn <wjwuwnwbh hpwywbwgynn @rstwanhwht hwlwanbint Urnn9wwwhwywb
unghwwywb GepnpnudGbph [BrsGwgphwhb AwuynGwywo hwdwywngh
hhaGwnpwaih Gppnpn dpwghn hwlwantiint 6pwghn nnwdw2GnphwhG dpuwghn wnnhwuwgrﬁgrt:;lﬂ Gnunnpn
wjn pYntd pun wjn pYntd puwn wjn pYntd puwn wyn pYntd puwnn
<nnywéh wiywbnudp = Jwuwwpnnltph = Jwuwwpnnltph = Jwuwwpnnbbph = Jwuwwnpnnbtph
% = % [ ] % =} % [
2 23 2 32 2 22 2 22
5 % g S % & £ ? & S ? &
] 53 2 JSE £ JSE 3 JSE
3 =5 =1 V=4 3 =] v 3 3 =1 v 3 3
3 33 3 < 3 =3 3 =3
£ 5 £ 23 £ 23 £ 23
a 55 a g‘g— a g% a g‘g—
M 3° 3° 3°
18 19 20 21 22 23 24 25
pLAUUGLL DUuUGN 31,563.5 31,563.5| 31,129.0 31,129.0 8,242.4 8,242.4| 862,142.3 862,142.3
wyn pyntd
LULBUSHhY DUUGN 0.0 0.0] 11,075.1 11,0751 4,446.3 4,446.3| 161,888.1 161,888.1
wyn pyntd
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
QBNLRENNIYU
wyn pynty
Muwjdwlwagnuihb wy Swewnipyntbbbph dGrpptpnud 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- LUnhwntp pOnyph wy dwrwjnipINLOGEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anuuucunNrLuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Ywwhww) npwdwbnphbtp whunwywb hwunydwéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pyntd
- Ywwhuwnwy untpyGOghwbbn hwdwyplsphh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pneetihg)
wjn pyntd
- Uy bwywuwnbbn pniobihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL ouwugP 0.0 0.0 11,0751 11,075.1 4,446.3 4,446.3 161,888.1 161,888.1
wjn pyntd
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18 19 20 21 22 23 24 25

Uy 6wfuubp 0.0 0.0] 11,075.1 11,0751 4,446.3 4,446.3| 161,888.1 161,888.1
N2 hvUuuyuUL U4ShduNrh aond oukuutnN 31,563.5 31,563.5| 20,053.9 20,053.9 3,796.1 3,796.1| 700,254.2 700,254.2
wjn pyntd

<pUtuuuu uhansueN 31,563.5 31,563.5| 20,053.9 20,053.9 3,796.1 3,796.1| 700,254.2 700,254.2
wjn pynLd

CGLRGN BJ ChULNHB3NtLLEN 31,563.5 31,563.5| 20,053.9 20,053.9 0.0 0.0 692,282.7 692,282.7
wyn pyntd

- Ctlptnh L 2nGnLpntGGEph 2hGwnpwpnieynLl 15,781.7 15,781.7 0.0 0.0 0.0 0.0 59,845.2 59,845.2
- Glpknh L 2hOnLpnLbGEph Ywwhwnwy yepwbnpngnid 15,781.8 15,781.8| 20,053.9 20,053.9 0.0 0.0| 632,437.5 632,437.5
utecuuutN 64 uureudnhnruuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd

- Ywpswlwl uwppwynpniiltn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- W vbptOwltn L uwnppwynpnidbtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL <hutuyuu un2nsutnN 0.0 0.0 0.0 0.0 3,796.1 3,796.1 7,971.5 7,971.5
wjn pyntd

- Lwuwgdwhbunwgnunwywb wfuukn 0.0 0.0 0.0 0.0 3,796.1 3,796.1 7,971.5 7,971.5




cle

«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opblph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 07 pwdth 06

fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwy 07-06-01

wyn pyntd puwn dpwigntiph

Cwiwlinw bntfuwtbph | UPAN2WULhmBLG
Awwnwpduywl L NMuwpwlwwnnihwywb oppbqlbph L Ynpubwnleph w[; wuuénqhu
gblGwhy SwrwnpnLGltn SwrwjnLpNLGbEn wwuinpwuiniwl quiligqwouih
wnbnbywuinynipwl
SwrwjnLpnL0bEn
SwrwjnLpnLGbtn
wjn pYntd pun wjn pYntd pun wjn pYntd pun wjn pYntd pun
<nnussh wiulinudp = Jwwowpnotph | = | yweowpmotph | = yweowpotph | < | ywowpnnonh
& = & = & o & 5
3 33 3 33 3 33 3 33
& =S 5 S 5 S 5 s
e} c i ] c i} c e} c
= v3E = v3E = v3E = v3E
3 v 32 El v 32 El v 32 El v 32
5 23 g 23 5 23 5 23
a g % a g ‘g— a g ‘g— a g %
3° 3° 3° 3°
26 27 28 29 30 31 32 33
pLAUUGLL DUuUGN 70,800.0 70,800.0] 8,060.2 8,060.2( 18,800.0 18,800.0| 16,490.0 16,490.0
wyn pyntd
LULBUSHhY DUUGN 70,800.0 70,800.0] 8,060.2 8,060.2( 18,800.0 18,800.0| 16,490.0 16,490.0
wyn pyntd
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 70,800.0 70,800.0] 8,060.2 8,060.2( 18,800.0 18,800.0| 16,490.0 16,490.0
QBNLRENNIYU
wyn pyntd
Muwjdwlwagnuihb wy Swewnipyntbbbph dGrpptpnud 70,800.0 70,800.0 8,060.2 8,060.2( 18,800.0 18,800.01 16,490.0 16,490.0
wyn pyntd
- LUnhwntp pOnyph wy dwrwjnipINLOGEN 70,800.0 70,800.0 8,060.2 8,060.2( 18,800.0 18,800.0| 16,490.0 16,490.0
anuuucunNrLuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Ywwhww) npwdwbnphbtp whunwywb hwunydwéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pyntd
- Ywwhuwnwy untpyGOghwbbn hwdwyplsphh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
unshuLu4uu uMuuUsSuLLEN B4 busuuurNocuuwLGN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pneetihg)
wjn pyntd
- Uy bwywuwnbbn pniobihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u3L dumnutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd




€€

Unyntuwy 07-06-01

26 27 28 29 30 31 32 33

Uy 6wfuubp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvUuuyuUL U4ShduNrh aond oukuutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

<pUtuuuu uhansueN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd

CGLRGN BJ ChULNHB3NtLLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

- Ctlptnh L 2nGnLpntGGEph 2hGwnpwpnieynLl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Chlptnh L 2hGnipintbbbph Ywwhuwnwy Epwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
utecuuutN 64 uureudnhnruuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd

- Ywpswlwl uwppwynpniiltn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- W vbptOwltn L uwnppwynpnidbtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL <hutuyuu un2nsutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- Lwuwgdwhbunwgnunwywb wfuukn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




v.€

«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opblph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 07 pwdth 06
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwy 07-06-01

wjn pYntd pun dpwgntinh

Uwulwghunwyw(,
funphpnwunywywb L
Yuwqiwytpwwibpnnwywl
wowygnipwl swrwjnipyinttitn

Uj| pnidoqlnipyuilb L
uywuwnydwb
SwrwjntpnLGObn

Uwnnwuhpwywb oglnipwb
Ywpagny unwgynn nentiph L
nGnwgnpéwywb wpunwnpwbph
utnwgiwl, dwpuwgbnéiwl L
pw2fudwl wfuwwnwbpltn

Sniptpyniyngh nkd
wwjpwph waquyhl
Spwghp

wjn pYntd puwn wjn pYntd puwn wjn pYntd puwn wyn pYntd pun
<nnussh wiulinudp - pwowpnnobrh | = | ywowpmoeh | < yuwowpnnobeh | = | bwewnnotnh
& - & - & = & o
() () () =
2 3 2 3 2 32 2 3%
2 2 & 2 2 & 2 z = 2 25
= v3E = v3E = w3t = w3E
g v 3z “g v 3z g v 3z g v 32
= 33 = 33 = 33 = 33
g 22 g 22 g 22 g 22
£ 3 £ 3 £ 3 £ 3
3 3 3 3
34 35 36 37 38 39 40 41
pLAUUGLL DUuUGN 8,967.8 8,967.8| 3,000.0 3,000.0 9,000.0 9,000.0| 6,800.0 6,800.0
wyn pyntd
LULBUSHhY DUUGN 8,967.8 8,967.8( 3,000.0 3,000.0 9,000.0 9,000.0| 6,800.0 6,800.0
wyn pynty
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 8,967.8 8,967.8( 3,000.0 3,000.0 9,000.0 9,000.0| 6,800.0 6,800.0
QBNLRENNIYU
wyn pynty
Muwjdwlwagnuihb wy Swewnipyntbbbph dGrpptpnud 8,967.8 8,967.8| 3,000.0 3,000.0 9,000.0 9,000.0( 6,800.0 6,800.0
wyn pyntd
- LUnhwntp pOnyph wy dwrwjnipINLOGEN 8,967.8 8,967.8| 3,000.0 3,000.0 9,000.0 9,000.0( 6,800.0 6,800.0
anuuucunNrLuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
LUwuwhwnw| npwiw0nphbp wenwwb hwundwdéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pynty
- Ywwhuwnwy untpyGOghwbbn hwdwyplsphh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pneetihg)
wyjn pyntd
- Uy bwywuwnbbn pniobihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL ouwugP 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd




G.¢

Unyntuwy 07-06-01

34 35 36 37 38 39 40 41

Uy 6wfuubp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvUuuyuUL U4ShduNrh aond oukuutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

<pUtuuuu uhansueN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd

CGLRGN BJ ChULNHB3NtLLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

- Ctlptnh L 2nGnLpntGGEph 2hGwnpwpnieynLl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Cklptnh L 2nGnLpnLGbEph Ywwhunwy YEpwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
utecuuutN 64 uureudnhnruuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd

- Ywpswywl uwppwynpniibtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- W vbptOwltn L uwnppwynpnidbtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL <hutuyuu un2nsutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- Lwuwgdwhbunwgnunwywb wfuukn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




9.¢

«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opblph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 07 pwdth 06
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun

Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

wjn pYnLy puwn dpwignbiph

Lwiwpfuwphwihb pwGyh
wowgnipjwidp hpwwbwgynn
BrsGwaphwhl hwywgntint
Snpwagnh hwdwdhGwbuwynpdwb
SwwnOwywb npwdwtnphwihG

wjn pyntd

opwahn
<nnywéh waqwbnidp wyn pynud puwn
= Ywwwnpnnltph
c
& s
2 52
83 % &
g JSE
3 v 3
3 35
S 23
3
42 43
pLAUUGLL DUuUGN 68,788.4 68,788.4
wyn pyntd
LULBUSHhY DUUGN 2,277.7 2,277.7
wyn pyntd
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 0.0 0.0
QBNLRENNIYU
wyn pyntd
Muwjdwlwagnuihb wy Swewnipyntbbbph dGrpptpnud 0.0 0.0
wyn pyntd
- COnhwbnep pOnuyph wy SwewjnieynLbbtn 0.0 0.0
anuuucunNrLuen 0.0 0.0
wjn pyntd
Ywwhww) npwdwbnphbtp whunwywb hwunydwéh wy 0.0 0.0
Jwywpnwybepho
wyn pyntd
- Ywwhuwnwy untpyGOghwbbn hwdwyplsphh 0.0 0.0
unshuLuyuu uMUUSLEN B4 YGuuulBNcUYLEGN 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0
Owwuwnbbn (pneetihg)
wjn pyntd
- U Gwywuwnbtn pinuptihg 0.0 0.0
usL ouwugP 2,277.7 2,277.7

Unyntuwy 07-06-01



L11€

42 43

Uy 6wfuubp 2,277.7 2,277.7
N2 hvUuuyuUL U4ShduNrh aond oukuutnN 66,510.7 66,510.7
wjn pyntd

<pUtuuuu uhansueN 66,510.7 66,510.7
wjn pynLd

CGLRGN BJ ChULNHB3NtLLEN 36,409.6 36,409.6
wjn pynd

- Ctlptnh L 2nGnLpntGGEph 2hGwnpwpnieynLl 31,652.3 31,652.3
- Cklptnh L 2nGnLpnLGbEph Ywwhunwy YEpwbnpngnid 4,757.3 4,757.3
utecuuutN 64 uureudnhnruuen 27,9091 27,909.1
wyn pyntd

- Ywpswlwl uwppwynpniiltn 2,095.5 2,095.5
- W vbptOwltn L uwnppwynpnidbtn 25,813.6 25,813.6
usL <hutuyuu un2nsutnN 2,192.0 2,192.0
wjn pyntd

- Lwuwgdwhbunwgnunwywb wfuukn 2,192.0 2,192.0

Unyntuwy 07-06-01
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opblph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 07 pwdth 06

fudph 02 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 07-06-02

wyn pYntd puwn dpwantiph

Qnpéwnhp hafluwlntpwa,
wtnwywb Yurwywndwb
hwOpwwtwnwywb L
nwnpwdpwiht urwywpiwl
dwndhbasph wwhwwOnid
(GwjuwpwpnipNLbbBph

COnwidklp wfuwwnwywagitiph dwuny)
nwuh
<nnywéh waqwbnidp gnudwpp win raL{nui[?éJm
thuuqun = YwunwpnnGbinh
c
nnwattpny) g 35

E =5

g c

2 v3§

3 v 32

£ 23

3
1 2 3

pLAUUGLL DUuUGN 225,731.2 225,731.2 225,731.2
wyn pyntd
LULBUSHhY DUUGN 225,731.2 225,731.2 225,731.2
wyn pyntd
uchuusuueh yurusrni@3ntu 202,996.6 202,996.6 202,996.6
wyn pyntd
Mwdny JAwnpynn wziuwwnmwywnpébn b hwdGjudgwnbbn 174,627.5 174,627.5 174,627.5
wjn pynd
- UpuwuwnnnlObph wuwwnwywndbn b hwybwyfwpbbn 142,221.2 142,221.2 142,221.2
- Pwnwpwghwywl, nwunwywb b yenwwl wy 32,406.3 32,406.3 32,406.3
Swrwjnnubph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 28,369.1 28,369.1 28,369.1
ounusnrk@3ntuutNrh 64 UNNPULLLENh 22,734.6 22,734.6 22,734.6
QBNLRENNIYU
wjn pyntd
Cwpnibwywywb Swiuukn 12,050.4 12,050.4 12,050.4
wyn pyntd
- toGpgbuinhy Swrwynigntbbbn 5,887.1 5,887.1 5,887.1
- Undntwy SwewynipnLGbtn 291.9 291.9 291.9
- Ywwh dwrwjnipiNLbO6 5,371.4 5,371.4 5,371.4
- @nuph L uwppwynpniibbph yuwpdwywinipntb 500.0 500.0 500.0
Qnpéninnibtnh L 2powquinipntbbbph wfuutbin 4,232.2 4,232.2 4,232.2

Unyntuwy 07-06-02



6.¢€

1 2
Nuwydwbwagnuiht wy Swewnupyntb0bph dGrpptpnid 408.0 408.0 408.0
wjn pynd
- Lwdwywngswihb dwrwnipntbbGp 100.0 100.0 100.0
- SbnGYwwnywywb swewjnipyntbOtn 300.0 300.0 300.0
- LUnhwnip pOniph wy SwrwjnipINLOGEN 8.0 8.0 8.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaatn L 1,092.0 1,092.0 1,092.0
Qjneetin)
wyn pyntd
- Chlptnh L Ywrenyglbph pbpwghy Gnpngnid L wwhwwlned 600.0 600.0 600.0
- UbpbOwotnh L uwppwynpnidlbph pbpwghy Gnpngned L 492.0 492.0 492.0
wwhww(nid
Unipbp (Uwnwbpltn) 4,952.0 4,952.0 4,952.0
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 1,200.0 1,200.0 1,200.0
- Spwluwnpunuwihb Ojneptn 3,500.0 3,500.0 3,500.0
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 252.0 252.0 252.0

Unyntuwy 07-06-02



